R&TA N E#ofE A3+ B3, A3 — B3 01
1. RORZABOMEL. (SHE1D108, AM1040%, B2 208, C#H 35308 )

(1) 23+1 (2)  a®—27

(3) 8+ 6—14 (4) b — 1S
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2. WROXZRBOMHEL (SH1210%, Afk1240%, Bik22320%, C #3723 30% )

(1) ad - (2) 8z + 64
3) %+g% 4 P trty—yi+o°
a
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RN E#9E A3+ B, A3 — B3 01 fRE5#ER
1. RORZABOMEL. (SHE1D108, AM1040%, B2 208, C#H 35308 )
* IABDOMEEDNT

A2+ B3 =(A+ B)(A%2 — AB + B?)
A3 — B3 = (A—-B)(A%2 + AB + B?)

(1 2*+1 (2)  a®—27
=23 +13 =a® — (3b)?
=(x+1)(z2—xz+1) = (a —3b){a® +a - 3b+ (3b)?}

= (a — 3b)(a? + 3ab + 9b?)
WHEPD
HEARBELT, MOZLi2MEIDLS.
c 2?2 L2 DEPHERAB I &
<2 OIHEEBIHDOBRB R HoTWE L

ZDREE DTS, FEEEWE KIEIZES T Z e TE
50T, WETHI PO SNE XS ITHETEZ L.

(3)  8ad+ o (4)  a® -8
= (20)* + (})° = (@) — (%)
= (20+ L) {@op - 201 + ()} = (a® + 1) (a® — b?)
_ (233 + i) (4:,:2 _ %w + 116> = (a+b)(a® — ab + b*)(a — b)(a® + ab + b?)

= (a + b)(a — b)(a® + ab + b?)(a? — ab + b?)

KhEEZD

Bl % (a2)® — (b2)® LEZTHVND,
GRS 2 JEUHE.

Jek G A THEIETENIERA N,
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2.

(1) a® -0
— a3 _ b3
= (a — b)(a® + ab + b?)
b a
(3) 2t
b3 a® N
a2 + a?b? L
a4
a’b?

_ (a + b)(a? — ab + b?)

2b2

a

ROXERBAMHEL. (SHE12108, AB1I2408, BH272 208, CHh33 308 )

(2) 8z + 64

=8(x3+8) <k

=8(z + 2)(x% — 2z + 4)
VhEERD

(22)3 +43 &F XA,
migiz () OREMEELT,

8% () OAMTHENIE L OK.

72U, REDIE D PEW UIEREMES &L,
K R DI 2 DM & 5.

4) B+’ +r+y—y?+y3

=@+ + (@ -9+ (x+y)
=(x+y)@®—zy+y*)+ @ +y) (e —y) + (@ +y)
=@+y{@E*—ay+y*) +(x—y) +1}

=(x+y)(z®—zy+y* °+x—y+1)
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